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largest =1 # Initialize largest as root
1=2*i+1 #left=2%+1
r=2*1+2 #right=2%1+2

# See if left child of root exists and is greater than root
if 1 <N and arr[largest] < arr[l]:
largest =1
# See if right child of root exists and is
# greater than root
if r <N and arr[largest] < arr|[r]:
largest=r
# Change root, if needed
if largest !=1:
arr[i], arr[largest] = arr[largest], arr[i] # swap
# Heapify the root.
heapify(arr, N, largest)
# The main function to sort an array of given size
def heapSort(arr):
N = len(arr)
# Build a maxheap.
for 1 in range(N//2 - 1, -1, -1):
heapify(arr, N, 1)
# One by one extract elements
for 1 in range(N-1, 0, -1):
arr[i], arr[0] = arr[0], arr[i] # swap
heapify(arr, 1, 0)
# Driver's code
if name ==' main_ "
arr =[12, 11, 13, 5, 6, 7]

# Function call
heapSort(arr)

©& & 3 1 Heap Tree: & i /% 4= % B heaptree § L Apilitc o~ BL7|P | 2R{S i ATeh

heap tree. PF R 45 2 & 5 O(logntlogm), 2 # n~m 5 & i heap tree 7+ Z # P » /&7
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def buildMaxHeap(arr, N):

# building the heap from first non-leaf

# node by calling Max heapify function

for 1 in range(int(N / 2) - 1, -1, -1):

MaxHeapify(arr, N, 1)

def mergeHeaps(merged, a, b, N, M):
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# Copy elements of a[] and b[] one by one to merged[]
for 1 in range(N):
merged[i] = a[i]
for 1 in range(M):
merged[N + 1] = bJ[i]
# build heap for the modified array of size n+m
buildMaxHeap(merged, N + M)
# Driver's code
if name ==' main "
a=110,5,6, 2]
b=1[12,7,9]
N =len(a)
M = len(b)
merged = [0] * (M + N)

# Function call

mergeHeaps(merged, a, b, N, M)
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